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1. ST 9faREN Bl 50 UbR SNST 5Tar 2 fb it iR 0

faHaTR Y, a1 38 RITBEd B?

A, AufichH T B. THer G151

C. UrefehH s D. guiH & (Q)
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favaraR grar el

2. UTfshH IS H Pl HRT fbd UhR ITd eld! 8?2
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B. el 37fgidd URT

C. gt YRT3N BT DA

D. It YR & AT (D)
7T : JHIR AT H PA URT| = |; + | + |3 Eldil 2

3. UTfshH IS H GAgeT UfciE Re fhd YHR ST

fdar sirara?
A. Re=Ri+R:+Rs B. Re =Ri x R: x Rs
C. 1/Re=1/Ri+1/Ra+1/Rs D.Re=V/l Q)
T : FHIAR HATST W FHJCT TaRTel BT A, THT
YfcRTel & HchHl &b 1T &b SRTeR il 8l
4, e 7 gaF Ufaes R & arfed § ST e, ar
A UfaRel Re EPTT-
A. 3R B. R/3
C. 1R D. R? (B)

7T : T8 n THHE Uik GATdR H 8ld &, dl Re = R/n

5. 50,100 3{R 30Q & it Uil & HiaR & 8190
81 Pd URT MG 12V Al § 317gfd bl 778 81 af anfl-

A 28A B. 36 A
C. 4A D.5A ©)
ST | = |1 + 1o + 15 = 24A + 12A + 04A = 4A

6. HWR T 7TC FHIR TS A Pt Ufde fbaT EPm?

A 5Q B. 100
C. 30 D. 150 Q)
ST 1/R = 1/5 +1/10 +1/30 = (6 + 3 + 1)/30 = 10/30
»R=3Q

7. gferufader10Q 3R 40Q GHIGR # 51 70, aY

37T AT UfRIE Re BPTI-
A 400 B. 80
C. 500 D. 10Q (B)

ST&TT : Re = (10 x 40)/(10 + 40) = 400/50 = 8Q

8. 300,200 3R 60Q Bl FHIR A 531 R A
UfaRIEr Re BPTI-
A. 10Q B. 200
C. 300 D. 600 (A)
ST : 1/Re =1/30 +1/20 +1/60 = (2 + 3 +1)/60 =
6/60 — Re =100

9. UTchH HATST BT AT UfARIE T AfhITd
gfaera-
A AfEPB BT B. SRISR EIdT®
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7% : FHIR HASH H AT Uiy gHRAT IH TfaRiet
A PAEIAT R

10. If 20, 4Q 3R 10Q P! GHIGR A S1ST AT, Al 36T

gHed UfaRie gpT-
A 160 B. 00
C. 1180 D. 1209 ©

gregr: 1/Re=1/2+1/4+1/10=(5+ 25 +1)/10 = 85/10
— Re = 118()




